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1. The diagonat of a cube is 443 cm. What is its | 5. If¥ 2,600 is divided among three persons A, B ‘
volume ? - .1 1 1
and C in the ratio 3 : 3 : 1 how much does
(a) 16 em® A get ?
[+ 3
{(b) 32 cm @) %600
(¢} 64 cm®
by T 800
(d) 192 cm?® ®
(cy ¥ 1,000
d) ¥ 1,200
2, w2,3_.8 ;gd.2_ 2 where (@ "
X y xy X y xy
x # 0 and y # 0, then what is the|q For a positive integer n, define d{n) = the
value of x+y ? number of positive divisors of n. What is
(a) 2 the value of d(d(d(12))) ?
(b 3 (a) 1
(¢} 4 (b) 2
(d) 8 () 4
(d) None of the above
3. Two trains each 200 m long move towards
each other on parallel lines with velocities 7. In a triangle ABC, side AB is extended
20 kmph and 30 kmph respectively. What is beyond B, side BC beyond C and side CA
the time that elapses when they first meet beyond A. What is the sum of the three
until they have cleared each other ? exterior angles ?
(fl) 20 S (a) 2700
{b) 248 s . (b) 305°
() 288s (©)  360°
{d) 30 s (d) 540°
4. X’ is twice as old as Y’ 3 years ago, when {8. PQR is a triangle right-angled at Q. If X
X' was as old as ‘Y’ today. If the difference and Y are the mid-points of the sides PQ
between their ages at present is 3 years, and QR respectively, then which one of the
how old is X' at present ? following is not correct ?
{a) 1B years (a) RX? + PY2=5XY2
(b) 12 years (b} RX? + PY? = XY2 + PR?
(¢) 9 years (€) 4 (RX?+ PY? =5 PR?
(d) 8 years (d) RX?+ PY? = 3(PQ? + QRY
P-PQFA-L-RZ (2 -A}
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o o 37 Rt 443 em ¥ | ! e 1 ¢ ? |5,

(a) 16 cm?®
(b} 32 cm®
(¢) 64 cm?
(d) 192 cm®

TS 200 m Y & &N THGER B IR AR
7Rl W) HHIE 20 kmph 3R 30 kmph i |
el € | 3 & ueel ar B ¥ o g
@ i UR @A T fhan wwa dtaar & 2

(a) 20s
(b) 248s
(¢} 288s
«(d) 30s

KPP FIAGH &N YA I ad g
M, F§ X B IF YD A B 3W S W& A |
afe g § S sE BT R 3 99 E, K B
3 Iue o & 2

(a) 1849
(b) 12 a4
(¢) 9ud
(d) 8a§
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(¢) 1,000 E
@ % 1,200 |

. !
o7 e n & e, oRnfia Hifse din) =n &
YT fawstel o §=m | d(d(d(12) & "M
TR ? |

® 2 |

J

(c) 4

(d) I W A P A
0

fngs ABC §, AB 3o, B % R @, BC 437, C $

IR ® 3R CA Y=, A ¥ UR 9% agR aeh & |
A=t e Dot @1 dTee T E 2

{a) 270°

(b) 305°
() 360°
(d) b40°

|
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]
PQR, Q ™ Tw@wr & fagst & | afk sl
PQ 3R QR & #w-fag wwer X Ry €, @
ﬁm%ﬁaaﬁ%aﬁ?meaﬂﬁaﬁ%?‘
(a) RX2+ PY? = 5 XY? {
(b} RX? + PY? = XY? + PR? |
() 4(RXZ+PY?)=5PR? - |

(@ RX®+PY?=3(PQ+QRY)
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9. A bicycle is running straight towards north. [12. The centroid of a triangle ABC is 8 ¢cm from

What is the locus of the centre of the front the vertex A. What is the length of the
wheel of the bicycle whose diameter is d ? median of the triangle through A ?
' 20

{a) A line parallel to the path of the wheel (a) em

of the bicycle at a height d cm © (b)) 16 cm

: {e) 12 cm

(b) A line parallel to the path of the wheel

of the bicycle at a height d/2 ¢cm (d) 10 em
(e) A eircle of radius d/2 cm 13. The equation whose roots are twice the

roots of the equation x> — 2x + 4 = 0 is

(d} A circle of radius d cm (a) x%-2x+4=0

(b) x*-2x+16=0
10. To pass an examination, a candidate needs 9
. ()] x*-4x+8=0
40% marks. All questions carry equal

marks. A candidate just passed by getting @) x*-4x+16=0
10 answers correct by attempting 15 of the

total questions. How many questions are 14. The outer and inner diameters of a circular

pipe are 6 cm and 4 cm respectively. If its
length is 10 em, then what is the total

there in the examination ?

(a) 25 surface area in square centimeters ?
‘ (b) 30 : (a) b65n
© 40 (b) 110n
¢
{cy 150=
(d) 45

(d} None of the above

I1. Assume the Earth to be a sphere of radius 15
R. What is the radius of the circle of
latitude 40° S ?

A cylindrical rod of iron whose radius is
one-fourth of its height is melted and cast
into spherical balls of the same radius as
that of the cylinder. What is the number of

(a} R cos 40° spherical balls ?
(b) R sin 80° _ (a) 2
by 3
{c) R sin 40°
(cy 4
(d) R tan 40° d) 5

P-PQFA-L-RZ {4 -A)
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(a) ﬁsf?mﬁq%uﬁwﬁammdcmm
W @

‘(bj W%lmﬂiwaﬁmdﬂ cm

3o W @
() F=w d/2 em & gu

(d) ﬁﬁlﬂdcmaﬂﬁ

5 angdt o v olET U . 6 B 40%
Sl B FETHal B & | § ww $ 37 e
E | o snadl g wel ¥ ¥ 15 W B N
P W 10 B IR 9T W T & T | 39
wer # ey v € 2

(a) 25

(b) 30

(c) 40

(dy 45

T difse, gt R B o e @ |
JMT B FI D P aa g P

40° 5

(a) R cos 40°

‘R sin 80°

() R sin 40°

(d) R tan 40°

(5-A)

12.

13.

14.

15.

]

YT ABCH S5 AT 8em B | A AR
B & wiftz ot o Fn @ 2 |

(a) 20 cm
(b) 16 cm
() 12cm
(d) 10 cm

BT k2 - 2x +4=0 ?s@asgﬁq?hw
mmaﬁqm%? t

(a) x* —2x+4_0

o) x2~2x+16=0 . '

(c) Ax2—4x+8=0 !‘

d) x*-4x+16=0
JOR Fell & At AR iaRe T HA 6 em

Sﬂ“\’dl-cm'glﬂﬁﬁqa?fﬁﬁﬁ 10 c¢m #, H\l@_c'r
g aed af e # fea g p |

{(a) bBbm
(b) 110=

(¢} 150~=

3 o & B

.

[
AR ¥ IR 43 I, e B e 3o
aﬁw-ﬁ%%,ﬁwmaﬁﬁwﬁfw
frem ol MAdR e gt e | MerdR el B
e ol Il

(a) 2 -

") 3 ’
i
{

0 4

(d) b6
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16. = : = i
Theset S={xeN:x+3=3) isa 20. Ifx—l=—1-,thenwhatis 9x2+%equa1
(&) Null set X 3 X
to ?
(b} Singleton set
{¢) Infinite set (a) 18
{d) None of the above {h) 19
{e) 20
17. A telegraph post gets broken at a point @ 21

against a storm and its top touches the
ground at a distance 20 m from the base of
the post making an angle 30° with the|21. Consider the following statements :

. . 5
ground. What is the height of the post ? ] If 18 men can earn T 1,440 in 5 days,

40 then 10 men can earn ¥ 1,280 in 6 days.
(a) —=m
J3 7 2. If 16 men can earn ¥ 1,120 in 7 days,
then 21 men can earn ¥ 800 in 4 days.
(b) 203 m
Which of the above statements isfare
() 40v3 m correct ? )
{a) 1 only
(d) 30m
(b) 2 only
18. The sum of two numbers is 80. If the (¢) Both 1 and 2
larger number exceeds four times the (d) Neither 1 nor 2
smaller by 5, what is the smaller number ?
(a) 5 22. The number 2784936 is divisible by which one
I3 ?
b 15 of the following numbers ?
(e) 20 (a) 86
(d) 25 (b) 87
(e) 88
19. Consider the following numbers : (d) 89
1. 247
2. 203 23. The equation (1 + n2) x% + 2nex + (cz - az) =0

will have equal roots if
Which of the above numbers isfare prime ?
(@ c2=1+a
(a) 1 only
(b) =1-a2
{(b) 2 only
€ c¢=1+n+a
{(c}) Both1land?2
(d ¢ =0 +n?a?

(d) Neither 1 nor 2

P-PQFA-L-RZ (6 - A
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16. Ww@d S={xeN:x+3=3 ®g? 20. ﬁx-i-:%,a’r-gx%% Frs = ?
X .
(@) R wge (@) 18
b "
_(), e T © 19 [
() 3= 9=d ‘ '
V - . (C) 20 1
(@) w@m#ﬁm\éaﬁ | ,

d 21 , 1

17. 2ENG &1 @ B % BROT U g R gl & | '
AR g Y eRaa B, T H AR ¥ 20 m |21, FERen o ) R #tw

R, ORI F 30° BN H0N T e, W IR | L of 5 Rei ¥ 18 a1l € 1,440 o o &,

Ta B Fa T E ? 7 6 el % 10 s T 1,280 T W € |

@ 2 m 2. afk 7 Rl # 16 amedd T 1,120 Ha w3 §,
VB | A 4 et ¥ 21 3 € 800 o v € )

® 20V3 m | \ s sl § & B AR el & 2

(¢) 4043 m ' (@) &aa 1

(d) 30m () e 2 |

, ) (¢) 13R2I l
18. & i & A 80 # | afd v aeh dwn
B TRe & OR T W 5 5T &, | O W a @ "d LA 2 l

g2
(a) 5 7 22, G 2784936, FefeRad ¥ ¥ B #ﬁ S T
‘,'J
b) 15 ¥ sy % .
) 20 . (a) 86 !
(d) 25 (b) 87
: (c) 88 I
19, Frefafes demi w fqr S - ¢ I
' ' l
2. 203
. . . . 23. JHIFOT (1 + n?) x2 +2ncx+(c—az)-033
s Sl A ¥ B A e & 2 i T 2, ot
(a) &ad 1 [
" (@) 2=1+a?
(b) Pad 2 : '
’ (b) ¢*=1- a?
() 13k 234 )

(€@ c2=1+n?%+a2

A1, A 2
(d) LB @ = (L4 a2

P-PQFA-L-RZ (7 -A)
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24, AB is a straight line. C is a point whose|27. Let C be a circle. A point P moves such
perpendicular distance from AB is 3 cm. that the tangents from P to C include an
angle of 60°. What is the locus of P ?
What are the number of points which are
at a perpendicular distance of 1 e¢m from (a) Straight line
AB and at a distance 4 ¢m from C ? (b} A circle concentric with C
{e) A circle touching C
{a) 1
{d) A circle intersecting C at two points
(b) 2
() 3 28. What is the value of 2.6 — 1.9 ?
0-6
(@ 4 @
(b) 09
25. If tan A = l:_f-?ig, then what is ) 07
sin B
{dy 07
_2__1;&_1'% equal to ?
l-tan“ A
29. A garrison of ‘n" men had enough food to
{a) (tan B)/2 last for 30 days. After 10 days, 50 more
men joined them. If the food now lasted for -
(b) 2tan B 16 days, what is the value of n ?
() tan B (a) 200
(by 240
(d) 4tan B
(c) 280
26. What is the value of (@ 320
1 N 1 9
1+42 +43 1-42 +43 30. What is the ratio between times taken by a
train 240 m long to cross an electric pole
fa) 1 and a bridge of 80 m length ?
(b) \[2_ (a) 2:3
B (b) 3:4
¢ J3
{cy 4:5
(2 d 5:6
P-PQFA-L-RZ (8 - A}
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24, AB Wa Y@ ¢ | C ws fag 7, Toud sgea |27.
@M@Scm?lﬂﬁ@ﬁﬁ%ﬁwﬂﬂ,
STABY 1lem @ aF[dis g0 W 3R C 4
4cm3§@‘-’ﬂ'§? |

{a) 1
by 2
(¢} 3 28.

(d) 4

25. G tanA:l?_'COSB,'Fh 2tan A —
' sin B 1-1tan? A

TER & ?
' 29.

(a) (tan B)/2

b) 2tan B

{c} tan B

(d) 4tan B

1 HEMAAE ?

1
26. +
1+ 42 ++/3 1-4J2 +43 30.

(a) 1
by J2
() 3

(d) 2

P-PQFA-L-RZ (9 - A)
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(a) RS @ j

®) €% o W5 o '

(¢) C &I ¥l &l g g9

(@ C & e fagell W vfaeded o g3 39

26-19 AN aENE?
(a) 06

(b 09

© 07 .

@ 07 . . i

‘' wfiedl B GRS 9w 30 et 9w T B
%uqa"mmwﬁ%‘lmﬁq‘r%aﬁ HE
msosﬂ?mﬁﬁﬂfﬁﬁﬁ?‘rmluﬁmw
Hmﬁlsﬁ'a’ramaaﬁ,?hlnasrmw%?

(a) 200 ;
() 240 | |
(¢) 280 :
@ 20 If
Eﬁﬁgﬁ@ﬂﬁaﬁaﬂ?ualmmaﬁgaﬁm
asﬁﬁzammavé’taqam%ummfrw

HARR? '
@ 2:3 f
(by 3:4 :
(¢ 4:5

(d) 5:6
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31. What is the square root of 35
0-324 x 0-64 x 1296 )
0-729 x 1-024 x 36
{a} 4
(b) 3
{c} 2
(4 1
36.
32. What is the number of circles passing
through all the vertices of a given triangle ?
(a) One
(b) Two
(¢) Three
(d) Infinite
33. Four taps can individually fill a cistern of
' water in 1 hour, 2 hours, 3 hours and
6 hours respectively. If all the four taps are
opened simultaneously, the cistern can be
filled in how many minutes ?
(a) 20
(b) 30
(cy 35
37.
{(d) 40
34. What is the HCF of x* — x2 — 6) and
(x* - 4x? + 3) 7
(a) x%-3
by x+2
(e} x+3
(d) x*+3
P-PQFA-L-RZ (10 - A

If 2x-3y+1  x+4y+8 _ 4x—Ty+2

2 3 5
then what is (x + y) equal to ?
(a) 3
(b 2
{e) 0
(d) -2

Consider‘ the following statements :

1. Let P be a point on a straight line L.
Let Q, R, S be the points on the same
plane containing the line L such that
PQ, PR, PS are perpendicular to L.
Then there exists no triangle with
vertices @, R, S.

2. Let C be a circle passing through three
distinct points D, E, F such that the
tangent at D to the circle C is parallel
to EF. Then DEF is an isosceles
triangle.

Which of the statements given above is/are
correct ?

{(a} 1 only

{b) 2 only

(¢} Both1land 2

(d) Neither 1 nor 2

X completes a job in 2 days and Y’
completes it in 3 days and ‘Z’ takes 4 days
to complete it. If they work together and
get T 3,900 for the job, then how much

amount does Y’ get ?

(a) ¥ 1,800
(by T 1,200
{c) T 900
(d) ¥ 800

www.jeywin.com
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31. 0-324 =x 064 x 129.6

0-729 x 1-024 x 36

aﬂmﬁa?ﬂﬁ%?

{a) 4
by 3
{c) 2'

A'(d) 1

32. ﬁﬁ%ﬁuguﬁga%sweﬂqﬁ%wmﬁﬁ

T o P

(a) T®

(b) @&

(¢) A=
() E=

33. R 79 & A P <t 1 e HEIE 1 Uee,

2 uogi, 3 auel ok 6 Ul F W wed & | Rk
T T v @ o, d Ree Rect 3
TH W wHA F P

(a) 20

(b 30

(c) 35

(d) 40

34. (' - x2 -6 AR (xf - 4x2+ 3 W]

Y (HCRhang?

(a) x2-3

(b)

X+ 2

()

X + 3

@ x%+3

135,

37.

P-PQFA-L-RZ
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2x—-3y+1 x+4y+8 - 4x-Ty+2
2 3 5 '

A (x+y) fFE6 W & ? ¥

. ' [

(a) 3 :

(b)

) O

(d)

2 r
-2

e ool W) fFar Hifswe -

1. A A AW LR Pes g | am
@ifse, B Q R, S, W1 L &1 & & wHaa
meiﬁsﬁﬁ&:aﬂv\%%ﬁumm,
PR, PS ehaaq & | @ Q, R, S 99! arem &g
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2. WM sifae, W fiw frgall D, E, F 4 fiax
.aﬁmqacsﬂm%%% cHD
w® Wy ¥ EF ¥ =R 2 | a’rDEF
e Bym g1 ‘

zcrg,?ﬁﬁumasaﬁﬁ@faéhw%ﬂﬁ /&2

I

(a) et 1 |

(b) o 2 o

(@ 13R23M {

!

(@ IALID2 '

!
i

X’Hﬁmﬁéﬁﬁﬁwmésﬂtﬁm
vsfaidwaad #R 7 & @Y
FaRmaar &) o 4 v o W IR
W & o T 3,900 W &R, a’T‘Y’fH:‘afl‘fﬁrlﬂﬂﬁT
W & ? ' : I|

() T 1,800 ,

(b ',

(c)

T 1,200

Z 900 . . '

I
¥ 800 '

(d)

-
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38. Water contains 14%% of hydrogen and the: 42.
rest is oxygen. In 350 g of water, oxygen will
be
(a) 300¢g
(b) 250 g
(¢) 200g
(d} None of the above

39. What is the number whase 20% is 30% of 40 ?
(a) 90 43.
(b) 80
(e} 60
(d} 50

40. 38 litres of milk was poured into a tub and
the tub was found to be 5% empty. To
completely fill the tub, what amount of
additional milk must be poured ? 44.

(a) 1 litre
(b} 2 litres
{c) 3 litres

(d) 4 litres

41. The income of ‘A’ is 20% higher than that
of ‘B". The income of B’ is 25% less than |45.
that of ‘C’. What percent less is A's income
from C’s income ?

(a) 7%
(b) 8%
{c; 10%
(d) 125%
P-PQFA-L-R2 (12 - A

—

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% candidates failed in both English and
Mathematics, what percentage of candidates
passed in both the subjects ?

(a) 18%
(b) 21%
(c) 23%
(d) 25%

If the HCF of three numbers 144, x and
192 is 12, then the number x canno# be

(a) 180
(h) 84
(¢} 60
(d) 48

What is the HCF of 3-0, 1-2 and 0-06 ?

(a) 06
(b) 0-06
{c) 60
(d) 6086

What is the least number of square tiles
required to pave the floor of a room 9 m 99 em
long and 4 m 7 em broad ?

(a) 247
(b) 277
{c) 297
(d) 307
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39.

40.

41.
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350 g TR A, Feerl sl 2nt 2
(@) 300g

(b) 250g

" (e} 200¢g

@ IEE E Y B T

a8 e 71 8, 5T 20%, 40 B 30% & 2
(a) 90 |
(b) 80
() 60
(d) 50

38 X gg vF ca # Bem w3k TE 5% @wt
E | TE B R ¥ e, fea sk qu Remn
e ? :

(a) 1eiex
(b) 27
() 3R
@ 4R

A B T B P e 3 20% R g | B
D IS ‘O T A 2B FI RN A D
SR CH e Y v e a7

(a) 7%
(b) 8% -

(c) 10%

(d} 12-5%

42,

|44.

{13 - A}

www.jeywin.com

|

|
foosdh wier 7 52% sraedf sl F srghof € sik
42% Tord & st & | Al 179% el sih
sk Tifora 2 ¥ sl & ar e Rt o R
nfrere anareff S<if & 2 i
(a) 18%

B

(b) - 21%
(cy . 23%

) 25% _ |

]

afg 97 et 144, x 3R 192 &1 9.9, (HCF)
12 2, 4 ¥ x 7@ & et f

(a) 180 :
{b) 84
(¢) 60

]
i
i
(d) 48 '
E
?

3.0, 1-2 31, 0-06 & 7.9, (HCF) Tt &

!

(b) 0-06 |

(a) 06

(e) 60 ' ;

(d 606 l

9m99cmﬁﬁ3ﬂ?4m7cm?ﬂ€lm$q5ﬁf
R W e & o smawis aniER oigdl A
TH-A-HT I T & ? i
(a) 247 ;
by 277 i
(c) 297 i

{d) 307

]
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46. If three sides of a right-angled triangle are {50. A certain amount of money has to be
integers in their lowest form, then one of

divided between two persons P and @ in
its sides is always divisible by

the ratio 3 : 5. But it was divided in the

(@ 2 ratio of 2 : 3 and thereby Q loses T 10.
,t'l B
(b ¢ What was the amount ?
{c) 7
(d) None of the above (a) T 250
(by T 300
47. Consider the following statements :

’ } . ) : (¢ T 350
If p is a prime such that p + 2 is also a prime,
then {(d) T 400

1. pi{p+ 2)+ 1is a perfect square.
2. 12 is a divisor of p + (p + 2) if p > 3. 51. What is the value of [loglo 5 logm 100)}2 ?

Which of the above statements is/are (a) 4
4

correct ? ®) 2

{a) 1 only © 2

(b) 2 only @ 1

{c) Both1land2 )

(d) Neither 1 nor 2 52. Which one of the following three-digit
numbers divides 9238 and 7091 with the

48. When a positive integer n is divided by 5, same remainder in each case ?

the remainder i1s 2. What is the remainder

when the number 3n is divided by 5 ? {a) 113

(a) 1 {b) 209

®©) 2 (c) 317

© 3 : (dy 191

d) 4

53. If a and b are positive integers, x and y are

) } non-negative integers and a = bx + y, then
49. p% of x rupees is equal to t times q% of

v rupees. What is the ratio of x to y ? which one of the following is correct ?

fa) O<y<a

{a) pt:q

(b} p:qt b)) 0<ysd

(¢) aqt:p {(c} O<y<a

d q:pt (d) 0<y<b
P'PQFA-L-RZ ( 14 -~ A }
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46, oft wmeoi Bam & @R g ST ogaw | 50.
w0 ¥ yoffes &, agﬂaﬁwgmmﬁmm
g?

(a) 2
(b) &
ey 7

(d) 39w & ¥ o T8

47. Frefifed s ® fux S -
u%peasmsﬂm%%%p+2%hm
Irursa &,

1 pp+2)+ 1TE Pl & |

2. p+p+2) @ ueE 128, 3 p >3
3w ¥ & B WA e el A e

(a) &ad 1

(b) &act 2

(c) 13k 2=

(d TH1L,T82

51.

52.

48. 9 vH 99 quile n, 5 F fwfsa dar €, o S
22 | 31§ 3n H&W, S%ﬁwﬁaa‘fﬁi% I E
g

(a) 1
by 2
{c)r 3
d 4
53.

49, x TUG B p%, y TN B q% B t [T S TR B |
xRy aa g ?

(a) pt:g
(b) p:at
(¢} at:p
(d) q:pt

P-PQFA-L-RZ (15 - A}

[
!
l
|

a\s‘ﬁﬁaamﬁrs 5%534§5r|ﬂﬁP3ﬂ?Qa’r
@it # fnfea & ol & | "] T 203
argarer # fwifra fear mar B Q ® T 10 A

'Errﬁfgélvférama?r? '

T (a) T 250

{b) T 300

|
1
|
(¢} T 350 !
t
(@) T 400 f'

{

[log, 4 (5 logy, 1000 STAR AT & ?

(a) 4 ‘
» 3 \
1
(cy 2 |
(dy 1 !
i
frafeRed 4 ¥ 39 @ e a3 & =
9238 3k 7001 @ i #x voe Ame §
THH NG adT & ? |

(a) 113
(b) 209 |
(¢ 317

~ —.

(d) 131 |
I

! .
ofE a3 b o9 e #, x 3R yiwomR g €
T a = bx +y, Fhﬁmﬁﬂﬁaﬁﬁﬂﬂ:rmuas
g ?

l
(a) O0<y<a ' l‘
(b) O0<y<h !

(¢) O<y<a
(d) 0<y<b

!
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54. A bag contains ¥ 112 in the form of|58.
l-rupee, 50-paise and 10-paise coins in the
ratio 3 : § : 10. What is the number of
50-paise coins ?

(a) 112
(b 108
(c) 656
(dy 84

55. Two vessels are full of milk with milk-water
ratio 1 : 3 and 3 : 5 respectively. If both are
mixed in the ratio 3 : 2, what is the ratio of
milk and water in the new mixture ? 59.
{a) 4:156
by 3:7%7
{c} 6:7
(d) None of the above

56. What i. .he least number of complete years
in which a sum of money at 20% compound
interest will be more than doubled ?

{a} 7
(b} ©
€ 5 60.
(dy 4

57. A piece of wire 78 c¢cm long 1s bent in the
form of an isosceles triangle. If the raiio of
one of the equal sides to the base is 5 : 3,
then what is the length of the base ?

(a) 16 cm
(b} 18 cm
{(c) 20cm
(d) 30 cm
P-PQFA-L-RZ

(16 - A}

A trader marks 10%- higher than the cost
price. He gives a discount of 10% on the
marked price. In this kind of sales how

much percent does the trader gain or lose ?

(a) 5% gain
(b) 2% gain
(c) 1% loss

(d) 3% loss

The speeds of three cars are in the ratio
4 : 3 : 2. What is the ratio between the
times takén by the cars to cover the same
distance ?

(a) 2:3:4

b) 3:4:6

¢y 1: 2. ;3

{d) 4:3:2

The arithmetic mean of 10 numbers was
computed as 7:6. It was later discovered
that a number 8 was wrongly read as 3
during the computation. What should be the

correct mean ?

(ay 71
by 76
(c) 81
(d) 86

Dream Dare Win
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54. UwH AU F T 112 € 1m0, 504 stk 1034 |58,
e F T Y 3:8:10 Emﬁﬁﬁl
50-4% & faepl o W a1 & ?

{a) 112
(b) 108
() 96
(@ 84

55. o1 WA, HUer qU-3d 3O 1; 3 3R 3 : 5 am
A W E | ok I @ 3: 2% sgua ¥ fara
e, & = fror o qu ok I @ o e @ 2
(a) 4:15 '

59.
b 3:7
() 6:7
(d) 34w H q IR

56, 3 07 onf & TA-J-F0 w0 o ¢ R 20%
TEgE @ W B8 o g ¥ W s
anfr ? '

(a) 7
b) 6
¢y &
(d)y 4 60.

57. 78 cm @E AR & gbs & gafgerg Pys & v A
A T & O T SR YT @ HER W
3O 5 : 3, A MUR @Y T & ¥ ?

{a) 16 cm
(b) 18 cm
(e} 20 cm
(d) 30 cm
P-PQFA-L-RZ {17 - A}

f l
| |
!

vh SR, AN g ¥ 10% s diEa sifed
&% & | a% 35 D | 10% B G <1 R |
39 e & &®a A, mﬁmmm
o a2

(a) 5% N

(b) 2% o
() 1% @™
(@) 3% &

z%qasﬁra%aﬁasrmﬁcrﬁ4 3: 2%‘|mﬁ§?r
o o & o Rt gw fere e wwal & A wn

T d P

(a) 2:3:4 ‘
(b) 3:4:6 _ ‘
() 1:2:3

|

l
{d) 4:3:2 l‘
10 W@ @ WHGR W 7-6 W Rear ma |
wmﬁwm%wmsaﬁmw
TR A3 ™ N | T mmam's‘ﬁr
umee ? l

{a) 71

(b 76

(d)

|
|
|
f. |
(¢ 81 ' o
. !
8-6 ]

|

!
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For the next 02 (two) items to follow : 64.
The following table gives the frequency
distribution of life Jlength in hours of
100 electric  bulbs  having median life
20 hours :

Life of bulbs (in hours) | Number of bulbs
8-13 7
13-18 X 65.
18-23 40
23 -28 Y
28 - 33 10
33 -38 2

61. What is the missing frequency x ?

(&) 81 66.
(b) 27
(c) 24
(dy 14
62. What is the missing frequency y ?
(a) 27
{b) 24
ey 14
(d) 11
67.
63. If one root of the equation 2x2 + 3x +c=0 is
0-5, then what is the value of ¢ ?
(a) -1
(b} -2
ey -3
(dy -4
P-PQFA-L-RZ (18 - A)

The HCF of two polynomials p{x) and q(x)
is 2x (x + 2)and LCM is 24x (x + 2)% (x — 2).
If p(x)=8x"+ 32x% + 32x, then what is q(x)
equal to ?

(a) 4x3 - 16x

(b) 6x° — 24x

(€) 12x% + 24x

(d) 12x® - 24x

What is the econdition that the equation
24 bx +c= 0, where a # 0, has both
the roots positive ?

ax

(a) a, b and ¢ are of same sign
{b) aandb are of same sign

{c} b and ¢ have the same sign opposite to
that of a :

(d) a and ¢ have the same sign opposite to
that of b

What is the volume (in e¢m®) of a
spherical shell with 8 cm and 10 cm as
its  internal and external  diameters

respectively ?

{(a) %

0 2
() 24;"
@ 25307[

ABC is a triangle and AD is perpendicular
to BC. It is given that the lengths of AB,
BC, CA are all rational numbers. Which
one of the following is correct ?

(a) AD and BD must be rational

(b} AD must be rational but BD need not
be rational

(¢} BD must be rational but AD need not
be ratignal

{(d) Neither AD nor BD need be rational

www.jeywin.com
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64.
ﬁtr%ﬁaﬂmzowa’raﬁuﬁnmsﬁaqmmﬁ
100 g geat @1, wvel ¥ e B & aRERA
& feard # -
a6t &1 S o (gvet W) geaT o G
8-13 7
13-18 X
18-23 40
23 - 28
3 M 65.
28 — 33 10
'33-38 2
61. 3T IRARAT x & & ?
(a) 31
b 27 66.
() 24
d) 14
62, W SRERAT y T & ?
(a) 27
by 24
() 14
(d) 11 6.
63. ufz wlexor 2x2 + 3x +¢c=0 asrvasgaoﬁ
AcHATRNE ?
(a) -1
® -2
© -3 .
(d -4
P-POFA-L-RZ

{19 - A}

A #
A |E@ pw IR qw @ AE, (HCF)

2x (x + 2) & 3R @9 (LCM) |
24x (x + 22 (x - 2) ® I |

M plx) = 8x3 + 32x% + 32x B, A qlx) fowe
TR & ? :

(b) 6x° — 24x
(© 12x% + 24x !
@ 125 - 24x l

T vfaEy o ¢ 15 wiiexor ax? +bx+cl—0 ®

(a) 4x® — 16x | ‘
|

2 g g &, ST a0 7
- (a) abiiRcomREsE |

(b) aaﬂ?bwﬁgﬁﬁ o
{c) bsﬂuw%’ﬁa aas%a#ﬁuﬁaa\
(d) - asﬂuwﬁaés,bés%g@rmﬁr

m#@aﬁﬁaﬂm(cﬁmm%m
mmWWWScmsﬁwlocqﬁ?
61n ‘In
3 !
122n t
3 1
2447 !
3 l
250m
3

(a)

(b)

{c}

(@ }
!
S s ABC # 3R AD, BCRW%I{H‘E’

faar mon & @5 AB, BC, CA & ammal 93 uft
Wﬁ%iﬁm%iﬁaﬁﬂaﬂqmwﬂﬁr??

(a) AD 3R BD uf 8t & arfee
(b) ADqﬁﬁuﬁﬁm%UWBDuﬁﬂwﬁ

TS T )

() BD uRda & & aiite. weg AD R 2°f
aeaE e o

(d) qa‘rAD,tr?rBDq&ﬁv-sﬁm%I:

}
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68. If 3% x 27 = 9**%, then what is x equal to ? |72.
{a) 4
(b) 5
{c) 6
dy 7
69. The two diagenals of a rhombus are of
~ lengths 55 ecm and 48 cm. If p is the
perpendicular height of the rhombus, then
which one of the following is correct ?
(a) 36 cm<p<87cm
(b) 35cm <p<36cm
(¢) 34cm<p<35cm
(d) 33ecm<p<34cm
73.
70. - A toy is in the form of a cone mounted on
a hemisphere such that the diameter of the
base of the cone is equal to that of the
hemisphere. If the diameter of the base of
the cone is 6 cm and its height is 4 cm,
what is the surface area of the toy in cm? ?
{Take n = 3:14)
(a) 9362 74,
(b) 103-62
{c} 113-62
{(d) 115-50
71. The perimeter of a triangular field is
240 m. If two of its sides are 78 m and
50 m, then what is the length of the
perpendicular on the side of length 50 m
from the opposite vertex ? 75.
() 43 m
(b) 522 m
{c) 672 m
(d) 70m
P-PQFA-L-RZ {20 - A

www.jeywin.com
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Consider the following statements in respect
of a histogram :

1. The histogram consists of vertical
rectangular bars with a common base
such that there is no gap between
consecutive bars.

2. The height of the rectangle is
determined by the frequency of the class
it represents.

Which of the statements given above is/are
correct 7

(2} 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

A cistern 6 m long and 4 m wide contains
water to a depth of 1-25 m. What is the
area of wetted surface ?

(a) 40 m?
(b) 45 m?
() 49 m?
(d) 73 m?

The length of a minute hand of a wall clock
is 9 cm. What is the area swept (in cm?) by
the minute hand in 20 minutes ?

(Take = = 3:14)

(a) 8878
(b) 8478
{c) 86774
(d) 5778

What is the number of prime factors of
30030 ?

(a) Four

(b)Y Five

{¢) 8Six :
(d) None of the above

bream Dare Win
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Cofd 3*x27% =9 AixFEb R e ? 72.

(a) 4
b 5
{e) 6

@ 7

T WU & @) fwol B mat 55 em 3R
48 cm £ | IR wogis & e 3w p @, A
R s o adr 2 »

{a) 36 cm<p<37cm

{b}

35 cm<p <36 cm

73.

f¢} 34cm<p<35aem

(d) 33cm<p<34em

v& Reclh, @ sl W, v g & w9 N g
¥ R € & g & IR o O e &
G B WA ¢ | At 6g & AER & AR 6 cm
ﬁmgﬂaﬁ*ﬁ]ﬁ4cmﬁ,?ﬁcm2ﬁﬁiﬁe{ﬂ
TS SFB 7T ] ? (n = 3-14 )

(a)
(b}
(o)
(d)

74,

93-62
10362
113-62
11550

& Prpiia & &1 oRum 240 m 2 | of 5w @
YA 78 m 3R 50 m &, 7 g N | 50 m |
TR @ YN W S T AN W IS @ @ ?

(a) 43 m

75.

(b} 522 m
(_C)

(d)

672 m

70 m

P-PQFA-L-RZ (21 - A)

R o B B g B o 9em ¥
20 Bt W fime & o g W o A @

()]

(a)

l

S oafim & e H Preefofes oo | faEr
Hfye : ‘

) [
1. sngaied, Iwafs  amER @ | FelrR
FAABR 87 B & & T TR W

& & i P e smE w2 ]

2. o B S g g PreRm R s Ay
Tl o ararar § PR & s & )

m@mﬁvwmﬁ%aﬂawmaﬁ%‘fé?

(a) e 1

(by &ae 2

(0 13Rkza= |

@ TALA 2 o

t
TH 6 m ol 3R 4 m TS S 1-25mn{-gm‘aas
TR & 1 R O BT e T & 2 ‘!
(a) 40 m? . |
(b) 45 m? b
(c) 49 m% . ) 1
(d 73m? i

&7 (cm? #) am_t% ? (x =-314 &Afw) :

(a) 8878 : |

84-78 '!
(© ;‘
(d)

67-74
' 57-78

30030 % WIS ToES] P W Far # ? L
TR i
(b) df@

© ®

@, 3w A X I A& |
l
l
%
3

T
1

!
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76.  The angle of elevation of the top of a tower at a |For the next 02 (fwo) items to follow :
point on level ground is 45°, When moved ZQ m The item-wise expenditure of a
towards the tower, the angle of elevation Non.G L 0 isation for th
becomes 60°. What is the height of the tower ? on- overnr‘nen_ rgamisation dlor the year
2008 - 2009 is given below :
(@) 10(+3 ~1'm
(h) 10(vV8 + D'm Ttem ‘Expenditure
. (in lakh rupees)
(¢ 10(3-V3)m
Salary of employees 6
@ 106+ 3 m Social welfare activities 7
77. If x5 —9x% + 12x - 14 is divisible by Office contingency 3
{x — 3), what is the remainder ? Vehicle maintenance 4
E:; g Rent and hire charges 25
(©) 56 Miscellaneous expenses 15
(d) 184 The above data are represented by a pie
) diagram. ‘
78. Out of 250 cbservations, the first
100 observationg have mean 5 and the average
of the remaining 150 observations is 25/3.[81. What is the sectorial angle of the largest
What is the average of the whole group of sector ?
observations ? (a) 120°
(a) 6 (by 105°
by 7 () 90°
@ 8 d) 85°
dy 9
79. Two circles touch each other internally. Their |82. What is the difference in the sectorial
radii are 4 cm and 6 cm. What is the Jength of angles of the largest and smallest sectors ?
the longest chord of the outer circle which is (a) 90°
outside the inner circle ? ) 5o
(a) 42 cm E)) :25
c -5°
(b) 443 em @ 7750 ‘ .
() 63 cm
(@ 82 em 83. In a triangle ABC, a line PQ is drawn
paralle] to BC, points P, @ being on AB
80. The distance between the centres of two and AC respeciively. If AB = 3AP, then
circles .hawr?g radii 4-5 cm and 35 em what is the ratioc of the area of triangle
respectively is 10 cm. What is the length of AP h £ triangle ABC 2
the transverse common tangent of these Q to the area of triangle :
circles ? (a}) 1:3
(a) 8 cm
(b 7em b 1:5
(¢) 6cm ¢y 1:7
(d) None of the above d 1:9
P-PQFA-L-RZ (22 - A}
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e 4y 79 ¥ o6 feg A TR @ 9d @
I DT 45° & | HAR B AR 20 m AW W,
FE PR ANE | AR D I F g ?

(@ 10{(J3 —Dm
(b) 10(V/3 +1)m
@ 10B-+3)m
(d 103+ V3)m

R x5 _ox% 4 12x— 14, (x—3) & fsw &, &
9B T & ?

a) 0

(b) 1

(c) 56

(dy 184

250 ot F |, UEE 100 Warvil & Aved 5 2 3k 9w

sma T g ?

(a)
(b)

W 00 -1 oy

(d)

& F U B FARS F Tl e & | I
o 4 em 3R 6 om & | ST 9O & ftrean
Shar & o S AR g9 » ek &, wr E P

(a) 42 em
(b) 43 em
(© 63 cm
d) 82 _cm

i &, e st wwer 445 cm 3R 35 em
g o0 @ A g 10 cm & 1 3 gEl B
IR TS W 3@ B o 3 P

(a) 8cm

(b)) Tcm

{(¢) 6cm

I & P A

T 02 () wea & B - '

81.
g9 150 el & ifad 25/3 & | Q@ Yeor IYE |

82.

83.

{23 - A}

| oY (e ol )

| BT & FEREe T

‘.
|

!
v

a§ 2008 - zooe-aaf%ruuasﬂ?ﬂwﬁrwaﬂ
wmﬁrﬁ%ﬁaa%‘ i

TRl &1 3w \ 6
|G e Reaiaea '

i\ 7

\‘ 3
TR SFREM Vg
Ry 3R wRy TR \ 25
fifder s 15,
Wﬁﬁ%mmﬁﬁﬁam?\r

35 Prsuravs o1 fsaavd) o aar @ "?
(a) 120° Ji"
(b) 105° ‘
(e) - 90° \
@ 85° | \

gean 3iR agan f%‘rmv's”r & Broavd a?}vh # 4t
IR E ?
(a) 90°
(b) 85°

() 825° \
d 775 , i

Prgsr ABC #, @1 PQ, BC & T0<R @il W
2 sefs R P, Q wwer AB 3R ACR & | aft

. AB = 3AP &, a B APQ & ded @, ﬁ‘ga

ABC%S%W@M&@UTH??
(a)

1:3

(b) 1:5 '

(c) 1:7 . \
1:9

(d)
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84. What is one of the square roots of 88. Two unequal circles are touching each other
9 -214 ? externally at P. APB and CPD are two
(a) 7 -3 secants cutting the circles at A, B, C and
‘ ) 6 - V3 D. Which one of the following is correct ?
l @ 7 -5
(@ J7 - V2 (a) ACBD is a parallelogram
85. Whatis 27 x 1-2 x 5:5262 x 0-6 equal to ? (b) ACBD is a trapezium
(a) 12157
by 12175 (c} ACBD is a thombus
() 12175 (d) None of the above
{(d) None of the above
86. ABC is an equilateral triangle inscribed in a . . .
circle with AB = 5 cm. Let the bisector of the 89. ABC is a triangle right-angled at B and D
angle A meet BC in X and the circle in Y. is a point on BC produced (BD > BC), such
i ?
What is theg"al“e of AX . AY 1 that BD = 2 DC. Which one of the following
{a) 16 cm ] .
2 is correct ?
(b} 20 c¢cm
(¢) 25 em? 0 ) >
87. Consider the following statements : (b) ACZ = AD? — 2C¢D?
Statement-I : Let PQR be a triangle in which
PQ=3cm QR=4cm and (¢) AC?=AD?_4CD?
RP =5 cm. If D is a point in the
plane of the triangle PQR such (d AC? = AD? - 5CD?
that D is either outside it or
inside it, then
) . ' 1lel NR
DP + DQ + DR > 6 cm. 90. Let LMNP be a parallelogram and be
Statement-II ; PQR is a right-angled triangle. perpendicular to LP. 1If the area of the
Which one of the following is correct in respect parallelogram is six times the area of triangle
of the above two statements ? RNP and RP = 6 cm, what is L.R equal to ?
(a) Both statement-] and statement-II are
individually true and statement-II is the (a) 15 em
correct explanation of statement-I.
(h) DBoth statement-l and statement-II are
individually true and statement-II is no# (b) 12 em
the correct explanation of statement-I.
(¢} Statement-I is true and statement-II is ¢y 9cm
false.
{d} Statement-I is false and statement-II is (d) 8 cm
true.
P-PQFA-L-RZ (24 - A)
I——
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84. 9-2

()

(@ 7 -2

85. 27x12x55262x0-6 {HadaEle?
(a) 12157

{(by 12175

(c} 12175

(d) IRE A J B T

ABC wwerg B & o ves ga & siaia 2,
AB =5 cm | AF df5w @0 A & f§wse BC
mXAiRguA YA fomr 8 1| AX.AY &
R FT e ?
(@) 16 cm?
(b) 20 cm?
(€ 25 cm?
(d) 30 em?

87. fafaRes soel ) R &ifswe -
&A1 -
PQ=3cm, QR=4cm 3R

RP =5 em | afe fsjst PQR & wwad |

iDwhgwmwreEGDoa
S TR, UAT 5B 3 7, o
DP+DQ + DR > 6 cm.

HUTIl:  PQR S Gaa0Ny B & |
g A S B Fed § Prefiae F & sl
AR ?

(a) @1 3R su=-11 < afteer a9 €, 3k
- R, -l O R W &

(b) @aA-1 3R F=-11 S afed a7 €, 3k
FU-11, FIF-1 &1 T8 WIS F& & |

(c) 1w B, 3R w11 3 ¢ |
(d) HUF-1 3T 8, 3R A1 9T 8 |

P-PQFA-L-RZ

7+ @fse, PQR & fgw @ o

88.

89,

90.

(25 - A}

“(b) .ACBD v 05w (wweie) &

|

PR AR g9 EE@?‘&ETE]H‘W';&R?I
g1 APB3R CPD A Bes & A gl & A, B, C
3k D wea & | Freafofes ¥ 3 39 @ B
WP , ;

(a) ACBD w& HH=R oy &

(¢) ACBD t& wwaqis &

TE H A P A !
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(a) 15 cm
(b) 12 em h
(c) 9cm

(d)

8 cm S
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91. The material of a solid cone is converted into |96.
the shape of & solid eylinder of equal radius. If
the height of the cylinder is 5 em, what is the
height of the cone ?
(&) 15 em
(b) 20 cm
(¢) 25 cm
(dy 30 em
92. Let D, E be the points on sides AB and AC
respectively of a triangle ABC such that DE is
parallel to BC. Let AD =2 cm, DB =1 cm, 97.
AE = 3 cm and area of triangle ADE = 3 em?.
What is EC equal to ?
{a) 15cm
b) 186cm
(c) 18cm
(d) 21em 98.
93. A sum of money on compound interest amounts
to ¥ 9,680 in 2 years and to T 10,648 in 3 years.
What is the rate of interest per annum ?
(a) 5%
(b)Y 10%
{c) 15%
(d) 20% 99,
94. The curved surface of a cylinder is 1000 cm?.
A wire of diameter 5 mm is wound around it,
80 as to cover it completely. What is the
length of the wire used ?
(a) 22m
(b)) 20 m
{c} 18 m
100.
(@) None of the above
95. Three congruent circles each of radius 4 cm
touch one another. What is the area (in ¢m?)
of the portion included between them ?
(a} 8=
(b) 163 - 8n
(©) 1643 - d4n
(d) 16V3 —2n
P-PQFA-L-RZ (26 - A}

A man can walk uphill at the rate of 2-5 kmph
and downhill at the rate of 3-25 kmph. If the
total time required to walk a certain distance
up the hill and return to the starting position
is 4 hr 36 min, what is the distance he walked
up the hill ?

{a} 35 km
(b} 45km
(¢) 55 km
(d) 65 km

What is  cot 15° cot 20° cot 70° cot 75°
to ?

equal

(a) -1
(b) 0
ey 1
dy 2

If sin 30 = cos (8 — 2°) where 30 and (8 — 2°)
are acute angles, what is the value of 8 ?

(a) 22°

(b} 23°

(e} 24°

(dy 25°

What is ——w—s%nz 0 - cosz 0 equal to ?
sin“ 0 — cos” O

(a) sin* 8 - cos? B

(b) 1 - sin® 6 cos®®

(¢} 1+ sin® 0 cos® 0

(d) 1~ 3 sin?0 cos?®

Consider the following : ‘
1. tan® 6 — sin? § = tan® @ sin2 ©
2. {cosec B — sin 8) (sec 8 — cos 8)
(tan 8 + cot ) = 1
Which of the above is/are correct ?

(2) 1 only is the identity
(b) 2 only is the identity
{¢) Both 1 and 2 are the identities
(d) Neither 1 nor 2 is the identity
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(@) 15 cm I ¥ T 99 4 4T 36 e A &, o 7' =tk
(b) 20 ecm : TETS! W et ) @ wer A ?
(c) 25cm (a) 35 km i
(d 30em () 45km
92. WW dfoe s ABC @ 4ol AB 3R AC W (c) 55 km ‘ ‘
waer fag D 3k E 59 ¥@R € & BC & ¥H=R (d) 65km 1
DE & | = S AD =2 em, DB =1cm gz o8 15 cot 20° cot 70° cot 75° Fdd ave & 2
AE =3 cm 3R fiys ADE &1 &5%d = 3 em? | | |
ZIECTHhar W g ? (@ -1 | 1
, : ® 0 ‘
{(a) 15cm | © 1 ll
(b 16 c¢m @, 2 ' |
{c) 18cm : . |
(d) 21lcm 98. aR sin 30 = cos (8 2°) FeI 36 3R (B -2 =

POTE NOD AR FAE ?
93. & o= W wpgfs =t g &= 2 ad # T 9,680 @ 227 r
ﬁhﬁaa&ﬁ?lousﬁm%‘lwﬁ{a&ma r

35 {(b) 23° !
(a) 5% o 24" ‘
(h) 10% @ 25' ' i
() 15% : 7 sin® 0@ — cos®o '
@ 20% 99. “———  EpTE?

. sin2 6 — cos2 6’
94. fof 409 &1 9% U 1000 em? & | 5 mm &AM

B U AR 3Ib TRl R ST FE €, difd 39 a8 (a) sin* 0 - cos® B

WD A | gRAE e WAR B oS a2 ? |- (b) 1 - sin? 0 cos? ’

(a) 22m {¢) 1 + sin® 0 cos?

(b) 20 m (d) 1-3sin20 cos? 0 ‘

(C) 181’11 !

e 3 A PE T 100. FrfafEa w fdER S !

- : NN ) 3 1. tan?@—sin?0 =tan® O sin® 0 |

95. WER %W?ﬂﬁ% é’l‘i‘rlé:n;%'\"\e( 2. (cosec 8 — sin 0) (sec 8 — cos 0) }
a?ﬁg.wzﬁ) 25 !m (tan'0 + cot’ 8)-1

& EADT (e H T e & B R W A 2
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(b) 1643 —8n

(b) . a6 2 & ToaHd &
() 13K 2F & s &

(©) 1643 —4n o
(d) 1643 - 2x ' @ TA13IRAD 2 aw ¥ :
’ |
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Note : English version of the instructions is printed on the front cover of this Bocklet.
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